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o For an co?our, Y,,=100, Mex & For any colour, Y,,=100, Mex
i [max () chromatic value?], ST | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
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TUB-test chart CE97X, y), chromatic valueA;, B;),

Y M C
oS 520 525 Munsell System Y,,=100, Mex Xy=96,79,Y,,=100,00,7,,=111,46 B0
0,8 1 M, C=2,V=1,2,5,88&09, Mex Xy=0,3140y,,=0,3243 +10 — gii
ol CHENTERY (6.5 Ag=(ag=[ag n*ap a*ao,y]) Y — V=5
; — va1 Bo=(bo=[0o,r+00,a*bo v]) Y — V=8
— = a9 = ag [x/y] /-
V= by = byo [2/4]
- V=8
ay=1, byp=-0,4 ( A
(D 0
: : t- : »
n = Mex -10 \\ 4 10
X Y/Yqg-1 eX;
o0 2,y=22y( = ) 016 -0,011
495, bo,y=bav(Y/Y15-1) T=—"0014 -0010
8y=-0,017,byy=0,012 0,003 -0,002
ag 4=0,000,by 4=0,000 -0,0220,016
CIE 1931 X Munsell System Y,,=100, Mex
i C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 08 1,0 chromatic value (Ag, Bg)
CE971-1A 6 CE971-2A 6
X,=96,79,Y,,=100,00Z,=111.46 B, X,=96,79,Y,,=100,00Z,~111,46 B,
Xy=0,3140y,,=0,3243 X0 — ﬁ% %y=0,3140y,,=0,3243 +10 - ﬁ;
Ar=(ar~[ag +ag atay v]) Y — V=5 Ar=(ag[ag ntaz atap v]) Y — V=5
By=(by=[by rithy atby v]) Y — v=8 Bo=(bp=[0, it atho 1) Y — V=8
ay =ag [(x-0,171)/y] 27 2 =2y [(x-0,17Dh] L
by = by [2/4] b=z [(Mp1x+bpy)/y]
a50=1, byg= ~0,4 a50= 1, byg= ~0,4
my1=1,000,b;=0,171 , :7 , 61 mp1=-0,169,bp1=0,389 , //‘— > ALZ
n = Mex -10 ' ( C i 10 n = Mex -10 ' 7 10
= Y/Y1g-1] X = Y/Yqg-1 ex
ﬁl'y_?Y(YlYls_l) | 0,012 -0,007 By aZY(WYlg:l) 0,012 -0,007
1Y~ 2v(Y/Y1g-1) s 0,011 -0,007| bzv bav(Y/Y1g-1) | 0,011 -0,007
a,y=-0,013,b,,=0,008 0,002 -0,001 agy=-0,013,y=0,008 0,002 -0,001
ay 4=0,000,b; 5=0,000 -0,0170,010 ap,4=0,000,b, x=0,000 ~0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10 C=2,Vv=1,2,5,8&9, Mex T-10
chromatic value (A;, B;) chromatic value (A, B,)
CE971-3A_6 CE971-4A_6
X,=96,79,Y,,=100,00Z,=111,46 B, X,=96,79,Y,=100,00Z,=111.46 B,
Xy=0,3140y,,=0,3243 E — ﬁ% Xy=0,3140y,,=0,3243 +10 - ﬁ;
Ag=(ag-[ag ntag atagyl) Y — V=5 Ag=(a4~[ag ntag atasyl) Y — V=5
Bg=(bg=[b3 riths atbs v]) Y — v=8 B4=(D4=[04,r+0s atba v]) Y — V=8

a3 = a0 [(x-0,17D/y] i
b3=hs0 [(Mp1x+bp1)/y]

ay=1, byp=-04
mD1=—0,974,bn1=0,6I58 '

a4 =ay[(x-0,17Dh)] i
b=z [(Mp1x+bpy)/y]

ay=1, byp=-04
Mp;=-0,169,0p,=0,39 :

) A

n = Mex ~10 /C ' 10 n = Mex -10 \ = 10
= YIY1g-1 = Y/Y1g-1

a3'Y_a2Y( & ) ] 0,012 -0,007 2, y=2v( = ) 0,012 -0,007
b3, y=bv(Y/Y15-1) 1 0011 -0007 by y=bav(¥/Y15-1) 0,011 -0,007
8,y=-0,013,b,y=0,008 0,002 -0,001] 3,y=-0,013b,y=0,008 0,002 -0,001
ag =0,000,b5 4=0,000 0,0170,010 a4 4=0,000,b4 4=0,000 0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8 &9, Mex r-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A3, B3) chromatic value (A4, By)

CE971-5A 6 CE971-6A 6
X,=96,79,Y,,=100,00Z,~111,46 B, X,=96,79,¥,,=100,00Z,~11146 B,
Xw=0,3140y,,=0,3243 X 10 — xz% Xw=0,3140y,,~0,3243 g _ xi%
As=(as-[a5 ntas atasy]) Y — /=5 As=(ag—[36 ntas atas yl) Y — v=5
Bg=(bs5—[bs tbs a+bs v]) Y — V=8 Bg=(bs~[0g,r+0,a*b5 v1) Y — v=8

8:=2,,((0,861x~0,719/-0,026)}] _
bs=b,,](0,19%+0,386/-0,240)§]
85,=1,00,b,,=1,00

Ae.6.vR=475,503,574,494c.Entf /]
n = Mex _10 )
a5 y=apy(Y/Y1g-1)

N A
L/ 10

ex
0,003 -0,002

b5 y=boy(Y/Y1g-1) 0003 -0,002

8,y=-0,003 b,y=0,002 0,000 -0,000

a5 A=0,000,b5 4=0,000 -0,0050,003

Munsell System Y,,=100, Mex

C=2,V=1,2,5,8&9, Mex T-10

chromatic value (As, Bs)

CE971-7A_6 CE971-7N

adaptation: 5A=0,

SY#0

r10
L)) A

ag=ap,x/y] |

b=, [(Mpx+bp1)/y]

85,=1,00,05,=-0,40 /
Mp1=-0,974b0,=0658 | /L :

n = Mex -10 3 10
3 y=2y(Y151) =5 -0.005
b y=boy(Y/Y15-1) : g
6.y=Pv(Y/Y1g 0,014 0,005
3,y=-0,016,b,y=0,006 0,003 -0,001
ap,4=0,000,b5 4=0,000 ~0,0210,008

Munsell System Y,,=100, Mex

C=2,V=1,2,5,8&9, Mex ]
chromatic value (Ag, Bg)

CE971-8A_6

indino Ae|dsip Jo Juswainseaw Joj uoneoldde

Sd'/ LXL'¥YN01.632/.632-T0208T0C ‘uonensibal gn i

3P0 :Jeuslew gl

yl=

-6




